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= Year 11          = Polynomial functions           = Worksheet 3
	1. Find p and q such that 
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	2. Refer to Q1. Find the real roots of   
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	3. Find p such that 
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is a tangent to the parabola 
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	4. Refer to Q3. Find the coordinates of the point of contact.


	5. A tangent to the curve 
[image: image5.wmf]1

2

3

2

-

+

-

=

x

x

y

 is parallel to the x-axis. Find the equation of the tangent.
	6. Given 
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, find p such that 
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 is a tangent to 
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	7. Given 
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, find the p values such that 
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	8. Find p and q such that 
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	9. Refer to Q8. Sketch 
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 and 
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 on the same set of axes.
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	10. Find the equation of the following cubic function 
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	11. Refer to Q10. 
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 is translated 1 unit down, 2 units right and then reflected in the x-axis. Find the equation of the transformed function.

	Numerical, algebraic and worded answers.


1.  p = 6, q = −7


2.  −1, 7


3.  p = 1


4.  (1/2, 0)


5.  y = −2/3


6.  p = 9/4


7.  0, −4


8.  p = 2, q = 3


10. y = −2x(x+2)2


11. y = 2x2(x−2)+1
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